50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

17EE43

‘%wl

a. Discuss the special feature of Remﬁi’rcﬁ;d Concrete Pole (RCP) and the advantages of HTLS
conductors? R4 F o ™ (08 Marks)
b. An overhead transmission ling ,C%ﬁuctor having a parabohc wp‘%nﬁguratmn welghs 1.925 kg
per metre of length. The area)of the cross section of the conductor is 2.2cm” The ultimate
strength is 8000kg/cm® Th@ siipports are 600m apart and having 15m difference of levels.
Calculate the sag from ﬁh% taller of the two supports W] hich must be allowed so that the factor

" of the safety shall be @%Assume ice load is 1kg p% metre run and there is no wind pressure.

& (12 Marks)
o OR S
a. What are the advaﬂtages of composite msulaﬁ)rs over glass and porcelain insulators?
s’ (08 Marks)

b. An msu%ator strmg consists of 3 unltSfg each having a safe working voltage of 15kV. The

ratio of sexkf -capacitance to shuntﬁ%;apacnance of each umt, is 8:1. Find the maximum safe
(12 Marks)

Module—Z

a. Define distributed constan};@ﬁWhat is the need
transmission line? Y £ (08 Marks)

b. The figure shows the arrangement of a_ ouble circuit sin le phase line. Calculate the
inductance per km of the line (go and return). The rad1u§ %@f the conductor is 1.25cm.

> G (12 Marks)

; e
transposmon mﬁfa 3 phase unsymmetrical

gés of'a double cix;euif line over single circuit line? (08 Marks)
25km long transmission line is arranged as shown in Fig.Q. 4(b). If the

. find the capacitance and capacitive reactance of the
o (12 Marks)

10of2




17EE43

Module-3 4

5 a. What are the generalized circuit constants of the transmission line? Determine the ABCD
constants of the short transmission line with apptopnat"e phasor diagram and prove
AD-BC =1. %% (10 Marks)

b. A three phase, short transmission line delivers 3MV;7, ‘at a power factor of 0.8 lagging to a
load, if the sending end voltage is 33kV. Find: %) Receiving and voltage  ii) Line current

iii) Transmission efficiency  iv) regulatlon The‘resmtance and reactance of each conductor

are 5Q and 8Q respectively. R Ay (10 Marks)

£ N ”i%m,

,mxx

6 a. Discuss the nominal = model o wm@ transmlssmn line with agpropnate circuit diagram and
phasor diagram, and hence obt@ the expression for ABCQw@nstants for the same.

(10 Marks)
b. A 110KV, 50Hz, 3 phase tral%Sxmssmn line delivers a load of 40MW at 0.85 lagging power
factor at the receiving end. T‘he generalized constants of the line are A=D =0.95/1.4" |

= 96 /78° O, C £ e th

Wﬁ

=
.

60015 £90° O. Calcula%e the regulation of the line and charging

current using nommal T method. (10 Marks)
‘v'%auum;‘iﬁ%f Modut‘é-4
7 a. Discuss thﬁg “ﬁlsadvantages of the corona and how to overcome it. (10 Marks)
b. In a 3¢ line;the conductors have each4 diameter of 30mm, and are arranged in the form of
an equ;}ateral triangle. Assume, & m% 95, My = 0.95, find:the minimum spacing between the
condtictors if disruptive crltlcalwoltage is not to exceed230 kV between the lines. (10 Marks)
£ £
OR f‘?mw R
8 a. With a neat cross sectio al view of a gas preé%%@d cable, explain,its construction features
and advantages. \ (10 Marks)
b. A single core lead sh,eath cable is graded” by ﬁ%mg three dle@eggtrlcs of relative perm1tt1v1t1es
5, 4 and 3 respectively. The conductor diameter is 2cm and overall diameter is 8cm. If the
three insulating' materials are workedat the same maximum-potential gradient of 40kV/cm,
find the safe Wokag voltage of the ea%iM é (10 Marks)
* Module-5 if’"m

9 a Expl@;n in detall the mﬂuem:e Qf voltage on the 51ze of a feeder and a distributor line.
) v (10 Marks)
b. ﬁxpiam the concept* %rmg main dlsﬁxhutlon system. Discuss its advantages and
4 t‘“& sadvantages & TR (10 Marks)

: . ‘or ALOR 7
10 a. Explain withf, eat sketch the dﬁ'ferent failure modes of the bath tub curves. (10 Marks)
b. What are themhmltatlons of the distribution system? (10 Marks)
p % % ok ok ¥
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